TRIDON AT-109 SLITTER PARTS LIST
Part Number Description

AT109001 __SPACING ADJUSTMENTKNOB_
AT109002 KNOB MOUNTING SCREW, M4 X 0.7P X 12L

——— FH HEXSOCKET (25 mmHEXKEY) |
AT109003 VERTICAL SHAFT HOUSING MOUNTING
_______SCREW, M4 X 0.7P X 30L PAN H. PHIL
AT109004 NOTIN USE
AT109005_ VERTICAL SHAFT HOUSING

AT109006 SIDE HANDLE MOUNTING SCREW
o _M4AX0.7P X 14L, PAN HEADPHILLIPS
AT109007 VERTICAL SHAFT BOTTOM FLAT WASHER
101D X20 0D X 1.2T
AT109008__UPPER SPINDLE, M8 X 1.0P
AT109009 VERTICAL SHAFT
AT109010 SLIDE
AT109011__SLIDE PRESSURE PLATE
AT109012 _BODY
AT109013 SLIDE PRESSURE PLATE ADJUSTING SCREW
o _M4X0.7P X 16L, HEX SOCKET POINTED SET
AT109014 _SET SCREW LOCKNUT,M4X Q7P
AT109015 _MEASURING SCALE . AV N —
AT109016 LOWER SPINDLE LOCKING SET SCREW
e M6 X1.0P X 8L, CUP POINT (3.mm HEX KEY)
AT109017 _BRASS THREAD-PROTECTINGPLUG
AT109018__LOWER SPINDLE,M8X10P
AT109019 CUTTER NEEDLE BEARING -
AT109020 CUTTER _—
AT109021 EDGE GUIDE MOUNTING SCREW

o 10/24 X 5/8" PANHEAD PHILLIPS
AT109022 EDGE GUIDE —
AT109023 _SsTBBBUP
AT109024 STIRRUP KNOB SCREW, M6 X 1.0PX20L.
AT109025__STEEL INSERT PRESSUREPLATE ___
AT109026 VERTICAL SHAFT SPRING WASHER .
AT109027 VERTICAL SHAFT HOUSING SIDE AND HANDLE
—— END SCREWS, M4 X 0.7P X 16L. PANH. PHIL.
AT109028 HANDLE — —
AT109029 VERTICAL SHAFT TOP FLAT WASHERS
—_— . RAIDX1800DX07Y . . . . .. .
AT109030 CUTTER BETAININGWASHER_
AT109031 EDGE GUIDE MOUNTING SCREW
o LOCKWASHER, #10 EXTERNAL
AT109032 CUTTER RETAINING SCREW, M6 X 1.0P X 10L
e FH SOCKET(4mmHEXKEY) =

TRIDON CORP.

TRIDON Slitter parts should not be used on other brands, nor
should off brand parts be used on TRIDON Slitters. Some
parts may look alike but there are differences in
manufacturing specifications. Combining TRIDON products
with other brands voids all warranties, can result in damage to
parts, tool, or workpieces, and can also possibly result in
personal injury.

Genuine TRIDON parts are available from your local distributor

or
PRACTICAL PRODUCTS CO.
3925 Virginia Ave.
Cincinnati, Ohio 45227

Customer Service 800/847-8839
All Other Depts. 513/561-6560
AT109PL.98M




